ite each numeral
) ‘ w. expanded form.

1| 2,356 =

What is the perimeter
of this shape?

21 inches
17
29 inches
inches

13 inches

12 inches

| Eight children bought

2 snow cones each.
Three adults bought 1
snow cone each.
Show how to find the
number of snow
cones bought by the
children.

Write the number
senfence for the sum
of 237, 459, and 92.
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Building Heigh'f in Feet

Kay had 5 quarters,
3 dimes, and 7
nickels. She spent
76¢. Show howv 1o
find the amount of
money she had left.

What numbers
belong in the fwo
empty boxes?

3915DD33

"sz*‘:

R ,.,_;g'vmw

T T S Syl

| 60 minuies?_

'Whlch is cmother name
A 2316 for 51,3417 - 9 1 O
B 3'67} O fifty-one and three — 83 5
g i?i; hundred
- ( now fall i O five thousand, ihree
List the = ———— ow Tat s hundred forfy-one
heighis in the tree
order from branch? O fifty-one thousand,
least fo three hundred
aafesi. e -
gr feet iall forty-one
Bus Departure Arrival Mystery Numbers Round to the e e e
5 2.00p.m 430pm. | A=B+5 naarest 100 @@@@
7 8-00p.m 9:00pm | B=0C4 e e e, e
& 1:30p.m. 7:30p.m | C = the difference 21 [ “-—)@L-)dj
between 13 and 9 I
Which bus has the D=A-B 572 O
iongest irip? ' 9 ente OF 4 =
. ;A:____B: 731 3setsorl4 =
Which bus irip takes 7 490 l
t C= D= o '
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18 21 24 27 30
orange brown yellow blue green

3x9-= 4
x?

7
X3

8
X3
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